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Ψ1|Ĥ |Ψ1

〉
〈Ψ1|Ψ1〉 . O(R

V #�� ��$�	� 	���� �����#��
�� �
	���� �$���
��

� K
 � �
���� !$���

�� �	�
� K� 
��
��	�
�� �	�
�� |�	���� H��� ������� !
�����	��' 

 �
#

	��� |��	�
 ��!K
��"E	��' 
� ��� �	�
� ! ���
�
�	
�� ���
	���� ������ m = 0;±1 P%CQ� U���
��� 


��
	��
�� ���

� E �	�
 ! m = 0� c��

	��� �����#��
� �������� ��
�#�" ��$��
� 	��N

Ψ2(r) = B2 (cos θ −D/c) ψ1p(r)×
× exp

[−α2

√
r2 +D2 − 2rD cos θ

]
=

= (cos θ − D/c)F (r) .
O R

?�	 ψ1p(r) i 
������
� �������� ��
�#�' %|�
�	�
� 
�
�	��
� � 

���
�


� ���$���� ��
���
��
���
	���
�� ��'����	
�� ��	

#����
�� '�� $
!
�������� α2 i �����#��
�� �����
	�� B2 i �	��
�� 
������

'� c i �
'�� �	���� K� ��!
���	��
�
	��' ! ����� ��	���
���
��	� ��
�#�� O=R 	� O R�
S ����� ��	���
���
��	�∫

drΨ∗
1(r)Ψ2(r) = 0

!
�������

c = D

∫
drΨ∗

1(r)F (r)∫
drΨ∗

1(r) cos θF (r)
. OGR

H�
��#�E
	 c !���
� OGR !��
��	� ���
 ��� ������
#��
��� �����
	�� α2� $� F (r) !��
��	� ��� #����
� �����
	��� � Ψ1(r) ��
 ���
��	" ��!
��

� ��'
��
��
��� �	�
�� &��� OGR ����	���'E�� �  � ?����
��
��� �����#��
� �������� ��
�#�' !��
��	��

���
 ��� ��
��� �����#��
��� �����
	�� α2� ?���
��
���!�#�E" ��
�#��
��� 	��� O(R ���
� !
��	�



���" 

#

	����
�� ������� ��' �
����� !$��
��

��� �	�
� 	� �����#��
�� �����
	��

��!
������ �������� ��
�#�� ��
��
��� 	�
�
����� !$���

��� �	�
��� �$����

� ��	��
�
����	����	� H? ! �������"� �����E��� K� H?
������
""	� ��
������	��
�� ���	��� ���	��
	�" ω� �
	

���
��	" I� '�
 ��
��
� ���'��!���


�!���� ��� z�

&�' ������

��� ���	
�� ������
�� ���

	 �
�
�
���� ���
� ����	� � ����'��N

M1,2 = 〈2 |ez| 1〉 =
∫
drΨ∗

2(r)er cos θΨ1(r), OTR

� ���� ��#��'	��� !�����	� 	��N

f1,2 =
2m∗

e2�2
(E2 − E1)|M1,2|2. O%CR

)���!
�� !�����


' ���	�� 
�
�����	�����
K� !�����

�� ������

��� �
�
����� ! ��
��
��
�� �	�
� � �
���� !$���

�� �	�
 ��!
��

� 
�
��
��� ������� ! P(QN

Δn(ω)

nr
=

Δn(1)(ω)

nr
+

Δn(3)(ω, I)

nr
, O%%R

�
 �
���� ����
�� �����E ��
��
�� ����!
�� !��
����


' ���	��N

Δn(1)(ω)

nr
=

1

2εε0

σ|M1,2|2(E2 − E1 − �ω)

(E2 − E1 − �ω)2 + (�Γ)2
, O%�R

� ������ i 

��
��
��� 	�
	���� ���'��� P(Q� K�
!��
��	� ��� �
	

���
��	� ���	��N

Δn(3) (ω)

nr
= − μ0cI

4ε3/2ε0

σ|M12|2[
(E21 − �ω)

2
+ (�Γ)

2
]2×

×
{
4 (E21 − �ω) |M12|2 − (M22 −M11)

2

(E21)
2 + (�Γ)2

×

×
{
(E21 − �ω)

[
E21 (E21 − �ω)− (�Γ)

2
]
+

− (�Γ)
2
(2E21 − �ω)

}}
,

O%@R
�
 E21 = E2 −E1� μ0 i ���
�	
� �	���� c i �����
���	� ���	��� �Γ i 


���' �
�����#��� K� !�����
�

� 
�
�	��
���
�

�" �!�E����E" 	� �
���� ���
�	����� ��!��'

'� �����E��� K� H? !
������
	��' ��� 
�!���� 	
��
��	����� ���
��
' �� E ��
�
���
�"� 	��� �����
	� ���
� �#�
�	� '� �����

� 


��
	��
�� ���
��� �
����
� '��� !�����
�

� ��!��"��

'� 
� ����	��
�� ��
�
��� d�K�
��!��'
�	� 	
��
��	��� ���	
�� T = 20 p� 	�
�Γ ∼ 1.7 2/t� j��	�
� !��'��� � H? σ ��$���

� 
� ��
��� �����K


'� K� � H? ���
 !
����
��	��� ���
 % 
�
�	��
 O���������� 
�
�	��
R�
	��� σ = 3/(4πa3)�

L	�
� 
� ��
��� ����
�� ��K
 ������ ����
�
�

� �$����


' 


���� ������� 	� ��	��
� �����
�
	���

�� 5��
�� ����
������

V�� �$����


' ����
�

� ��' H? CdS� �����
�
	�� '��� 	���N m∗ = 0.2me� ε = 5.5� a = 40 }[�
>
!���	�	� !��
�
��	� 


���� ������� ��� �� ��!�
	�����

' � H? ����
� 
� ����%�

��������	 
��
���� �	����� ���������� �� 	����������� ��� ����



�����
�� ����%��

5 ������			 ��

1 2

0.0 0.2 0.4 0.6 0.8 1.0

�0.10

�0.05

0.00

0.05

0.10

0.15

D�a

E
,e

V

���� �� 9
����5 ��
��
��� �� ���+��� �,� !�
��� ���
��

 �%�+�� � �O

U� ������� ����
� 


���" ��
��
��� �	�
� O����
�� %R 	� �
����� !$���

��� O����� �R� d� ���
�
! ����
��� !���


' ������� �� ���" H? �
�

�� ��
�	�

��� !���	�

' 


���� ��
��
��� �	��

� ���	
�� 	� �� 

��
�	�

��� !���	�

' 


����
�
����� !$���

���� )����
�" #���� E ��!
� !���

� ����
������� 


���� �!�E����� ��
� ������� 	�

�
�	��
� ��' ��!
�� �	�
�� ��� !��K


� ��
� ���
������ A
������
� '���
� �
!���	�	� �	����
� � �
��$�	� P%CQ�

&�' �$����


' ��	��
�� ����	����	
� �����
���	���"	��' �����#��
� ��
�#�� O=R� O R� U� ������
@ ����
� ������� !��
�
��	� ������	� ��	���
��
�� 
�
�

	� ������
��� ���

	� ������

��� �
�
�
����� ����������� 
�
�	��
� 	� ���� ��#��'	��
�� �
�
���� f1,2 ��� ��!	�����

' ������� � H?
��������
��

0.0 0.2 0.4 0.6 0.8 1.0
0

20

40

60

80

100

D�a

M
1,

2

e

2 ,

���� 	� ��� ��� %�����
��� ���%�
��  �����
���

%�%�
�� %�!���
���- ����-� ��

0.0 0.2 0.4 0.6 0.8 1.0
0.0

0.2

0.4

0.6

0.8

1.0

D�a

f 1
2

���� 
� I��� ��"��5���� ����-� � �������
� � ��
��
���

� ���+�� �,� !�
�� ���


1 2

0.0 0.2 0.4 0.6 0.8 1.0
0

5

10

15

20

25

30

D�a

�
r�

,

���� �� I��� 
5 �� ���
�  �5  �%�+������ �������
� E ?

���� 
5 �� ���
� ��
��
��� ���
�� � ? ���+��� �,� !�
���

S �������� ���
� 

��
�	�

� !��
�
��	� !�!
��
�

�� �
����
� ~� ���
� ��'�
�	� !��
�" ����
�	������� ��!	�����

' 
�
�	��
� ��� !��
� D/a
O����BR�

S ����@ ���
�� K� !�

�


' D/a �
�
 	� 	��
��� K� ���� ��#��'	��� f1,2 ��'��E �� ��������
��
�
����
� '�� ���
� ��
���	� � !����� #

	����
�
���

������$
� ������� � ��
���
�� H?� c
�
�
'
����	�
� 
�
�	��
� � ��
��
��� �	�
� E 
��$����
��" �� �
�
�
��� ����	�
� 
�
�	��
� � !$���

��
�� �	�
� ��� D/a = 0.7 O����BR� c��
 	��� ��$���
!� #�E� 	���� ����	
����E	��' ��
���� � !��
�
��
�	� |M1,2/e|2 	� f1,2 ��� D/a� c��
 #
 � ����$��!��
	��' 
� !��
�
��	� ����!
��� !�����


' ���	��
��� ��� 


���� ����"���� ���
	� � ����� �
!�
�
�
�
�� 


�����

D�a�0.9

D�a�0.6

D�a�0.3
D�a�0.1

0.05 0.10 0.15 0.20 0.25

�1.5

�1.0

�0.5

0.0

0.5

1.0

1.5

hΩ, eV

	
n�

1�
�n

r

���� �� S�
��
�� �����
�� ����%��

5 ������

I�4 GW�m2D�a�0.9

D�a�0.6
D�a�0.3

D�a�0.1

0.08 0.10 0.12 0.14 0.16 0.18 0.20

�0.4

�0.2

0.0

0.2

0.4

hΩ, eV

	
n�

3�
�n

r

���� 
� >���
��
�� �����
�� ����%��

5 ������

��������	 
��
���� �	����� ���������� �� 	����������� ��� ����



�( <����� �	 3	� <���
����� 3	 �	� S�+�� �	T	� O��5
���� S	
	

D�a�0.9

I�10 GW�m2

0.08 0.09 0.10 0.11 0.12 0.13 0.14 0.15

�1.5

�1.0

�0.5

0.0

0.5

1.0

1.5

hΩ, eV

	
n�

n r
,	

n�
1�
�n

r,
	

n�
3�
�n

r

���� �� S�
��
�� M��
����
� �����N� 
���
��
��

M+���-��� �����N �� ���
�� M��"���
� �����N �����
��

����%��

5 ������	

U� ����=� ( ����
� ������� !��
�
��	� ��
��
��
�� 	� 

��
��
��� 	�
	���� ���'��� ��
��#�E
	��
!�����


' ���	�� '� ��
�#�� 


���� ����"����
���
	�� )�� �$����


'� ��������'� K� H? ��
�
���
� H? ! ��
��
�" �������" ������
"E	��'
���	��� �
	

���
��	" I = 4 j�	_�2� S ������� ���
�
�� K� ������


' ������� ��� #

	�� H? �
�

�� !��K


' �
!�
�
�
�� 


���� � 
�!���


��
�
	��
� �$���	�� )����
�" 	���� !��
�
��	� E !�

�
�


' ����	�
� ��� 


��
	��
��� ���
'�� ��
���

��� 	� �
����� !$���

��� �	�
��� d�K� � !$����

����	� �
	

���
��	� ���	��� 	� �����	
�
� 

���

�	�

��	� 

��
��
��� ����!
��� !�����


' !���
�	�	��
 � �	�

 !
��
�"� K� ���
� 
� ���� �

�� ����
���

L	�
� � #�� ��$�	� ����
�

� 	
��
	��

 ������
��


' ��
���
�� H? ! 

#

	����
�" ���

���
����$
�" ��
��
�" �������"� K� ��!������ ��	��

���	�N

i !��
�
��	� 


��
	��
��� ��
�	�� 

#

	�����

�� ��
��
�� ������� ��� ��!	�����

' �����
��� � H? � ����!�	�� K� !��K


' �������
��� #

	�� H? �
�
 �� !���	�

' 


����Y

i !��
�
��	� ������	� ��	���
��� 
�
�

	� ���
����
��� ���

	�� ���� ��#��'	��� ������

�
��� �
�
����� ��� ��!	�����

' �������� K�
!
��
�" ����" !��
��	� ��� ����	������� ��!�
������ ���	�
� ������
��	� ��' 
�
�	��
� � ���
!
�� �	�
��Y

i ��
��
�� 	� 

��
��
�� ��	��
�� ��
��#�E
	�
!�����


' ���	��� '�
 !�����


 ������

���
�� �
�
������ 
�
�	��
� � H? ! 

#

	�����

�" �������" � ����!�	�� K� !��K


' �����
��� ��� #

	�� H? �
�
 �� !��K


' �����	
��

�� �
!�
�
�
�� ���������� � 
�!���


��
	��
�
� �$���	��

���
�
 ��!��

-$. qcX]^YZ]] t�� n�YdPcb ��� xP^P][R\U p� 7�	���� 8�� ,���������������� = AS�TSPR[Pcl ��QP_� $BB"� = !!" T�

-#. vZ]b A�A�� x�X x�A�� Z]^ ASZ]b O�y� f�bP]R[Z[PR Z]^ w]P R[cXT[XcP \` Z S_^c\bP]�T �YhXc�[_ �] Z RhSPc�TZQ
}XZ][XY ^\[ << VS_R� �PU� n� = $BB"� = �
� ? N� = V� $B@N>$BI$�

-!. ;	�� 5�/�� 3�������	�
 /�0�� C��������	�
 F�5�  ��	�� � '������� ���	��� ��������������� ����+	��
�����,���� � ������ 	�������� ���	� << ���� � '��� ������ ����� = #%%!� = �� ? #� = V� #$!>##%�

-N. x� O�O�� ��Z m�n� fQPT[c\]�T R[Z[PR \` Z S_^c\bP]�T ^\]\c �YhXc�[_ �] RPY�T\]^XT[\c ]Z]\*R[cXT[XcPR << VS_R�
xP[[� W� = #%%J� = �		� ? $>#� = V� $#%*$#!�

-@. n\�TSXs o���� n�Q_]Rs_� ��o�� xPRSs\ ��vZ� zSP P{PT[ \` h\QZc�uZ[�\] TSZcbPR \] P]Pcb_ \` X]�UZQP][ Z]^ d�UZQP][
^\]\cR �] Z RhSPc�TZQ }XZ][XY ^\[ << A\]^P]RP^ tZ[[Pc VS_R�TR� = #%%"� = ��� ? N� = V� I@!>II$�

-I. oZS^Z]� t���k�� Z]^ �PuZP� q� x�]PZc Z]^ ]\]Q�]PZc \h[�TZQ hc\hPc[�PR \` Z S_^c\bP]�T ^\]\c �] QP]R*RSZhP^
}XZ][XY ^\[R << VS_R�TR xP[[PcR W� = #%%B� = ���� ? !N� = V� !%JB>!%"N�

-J. pZRc�Z ��� Z]^ OPssZQ p� qP]PcZQ hc\hPc[�PR \` T\]w]P^ S_^c\bP]�T �YhXc�[�PR �] RhSPc�TZQ }XZ][XY ^\[R <<
VS_R�TZ fl x\|*^�YP]R�\]ZQ O_R[PYR Z]^ pZ]\R[cXT[XcPR� = #%$%� = ��� ? B� = V� ##@J>##I!�

-". ��P �� gh[�TZQ hc\hPc[�PR \` Z] \{*TP][Pc S_^c\bP]�T �YhXc�[_ �] Z RhSPc�TZQ }XZ][XY ^\[ |�[S qZXRR�Z]
h\[P][�ZQ << OXhPcQZ[[�TPR Z]^ t�Tc\R[cXT[XcPR� = #%$%� = �
� ? #� = V� #!B>#NJ�

-B. ��P �� �YhXc�[_ P{PT[R \] \h[�TZQ hc\hPc[_ \` Z RhSPc�TZQ }XZ][XY ^\[ �] [SP hcPRP]TP \` Z] PQPT[c�T wPQ^ <<
VS_R�TZ nl A\]^P]RP^ tZ[[Pc� = #%$%� = ���� ? $I� = V� !N!I>!NN%�

-$%. n\�TSXs o���� n�Q_]Rs_� ��o�� xPRSs\ ��vZ�� zXc_Z]RsZ x�t� zSP P{PT[ \` [SP h\QZc�uZ[�\] TSZcbPR \] [SP \h[�TZQ
hc\hPc[�PR \` Z RhSPc�TZQ }XZ][XY ^\[ |�[S Z] \{*TP][cZQ S_^c\bP]�T �YhXc�[_ << VS_R�TZ fl x\|*^�YP]R�\]ZQ
O_R[PYR Z]^ pZ]\R[cXT[XcPR� = #%$$� = ��� ? #� = V� NJI>N"#�

-$$. OSX*OSP] x�� m�Z]*nZ� ��Z� fQPT[c\]�T R[Z[PR \` Z S_^c\bP]�T ^\]\c �YhXc�[_ �] RPY�T\]^XT[\c ]Z]\*R[cXT[XcPR <<
VS_R� xP[[� W� = #%%J� = �		� ? $>#� = V� $#%>$#!�

-$#. OZ^PbS� f�� Z]^ WUZuh\Xc W� n�]^�]b P]Pcb_ \` Z] \{*TP][Pc ^\]\c �YhXc�[_ �] PQQ�hR\�^ZQ }XZ][XY ^\[ |�[S
hZcZd\Q�T T\]w]PYP][ h\[P][�ZQ << VS_R�TZ nl A\]^P]RP^ tZ[[Pc� = #%$$� = ��	� ? #� > V� #N$>#NN�

-$!. �PuZP� q�� oZS^Z]� t���k�� Z]^ oZRPbS� n� p\]Q�]PZc \h[�TZQ hc\hPc[�PR \` Z S_^c\bP]�T �YhXc�[_ �] Z] PQQ�hR\�^ZQ
w]�[P h\[P][�ZQ }XZ][XY ^\[ << AXccP][ WhhQ�P^ VS_R�TR� = #%$$� = ��� ? #� = V� $JI>$"$�

-$N. vZsZc v�� AZs�c n�� Z]^ guYP] W� AZQTXQZ[�\] \` Q�]PZc Z]^ ]\]Q�]PZc \h[�TZQ ZdR\ch[�\] T\P�T�P][R \` Z RhSPc�TZQ
}XZ][XY ^\[ |�[S hZcZd\Q�T h\[P][�ZQ << gh[�TR A\YYX]�TZ[�\]R� = #%$%� = �
�� ? B� = V� $JB@>$"%%�

-$@. �P� �X� ��d_P]^X �P_ Z]^ y\\YZ] t\SRP]�� W U\Q[ZbP [X]ZdQP }XZ][XY ^\[ hS\[\^P[PT[\c `\c [PcZSPc[u
^P[PT[�\] << m� VS_R� �� = #%$%� = ��� = V� $@@$%$~I hZbPR��

��������	 
��
���� �	����� ���������� �� 	����������� ��� ����


